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EXE1 183 188 376 564 5,639 11,277 16,915
BEXiE2 313 322 643 965 9,644 19,287 28,931
EN A 542 557 1,114 1,670 16,699 33,398 50,097
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SAMRBELERERBE (XE) A18~31EALH REEFEMTTME(T) 3B ~H
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18H=Y (M) 17AH1=Y (M)

®x B 2,000 60,000

EBE 1,600 48,000
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ABRBER () 65 66 67 68 69 70 71 72
EE BTN (F) 8 8 8 8 7 7 7 7
ABR—B2 (M) 579,000 563,000[ 547,000 530000 514000 499,000 487,000 474,000
ABEEH(X) 73 74 75 76 77 78 79 80
1 E B ER (F) 7 7 7 6 6 6 6 6
AER—E2£A) 465000 456,000 447,000 437,000 426,000 414,000/ 402,000 390,000
ABEEH(Z) 81 82 83 84 85 86 87 88
18 E B HAR (&) 6 5 5 5 5 4 4 4
ABR—B2 (M) 377,000 364,000 350000| 336,000] 321,000 307,000/ 293,000 279,000
ABRBER(Z) 89 90 91 92 93 94 95 96
EE BTN (F) 4 3 3 3 3 3 3 2
ABR—BE2 (M) 266,000 253000 2410000 229,000 216,000 204,000/ 193,000 183,000
ABEFER (%) 97 98 99
1 E B ER (F) 2 2 2
ABR—E2(A) 173,000/ 164,000/ 155,000

MORBFICIE. ARBIRICH L AR —REDZEZAEYTRELET.




	Page0001

